

## STABILITY IN FUNCTIONAL DIFFERENCE EQUATIONS WITH APPLICATIONS TO INFINITE DELAY VOLTERRA DIFFERENCE EQUATIONS

YOUSSEF N. RAFFOUL

ABSTRACT. We consider a functional difference equation and use fixed point theory to obtain necessary and sufficient conditions for the asymptotic stability of its zero solution. At the end of the paper we apply our results to nonlinear Volterra infinite delay difference equations.

### 1. Introduction

It is well known that when studying stability of solutions, Lyapunov functions or functionals are the way to go. However, the stability results are as good as the Lyapunov functional that is being constructed, see [6]. Moreover, in most cases, Lyapunov functional will require severe conditions (see Theorem 1 below) on the terms in the equations in order for it to be decreasing along the solutions. For more on recent results regarding stability in difference equations we refer the reader to [1], [2], [3], [4], [5], [9] and [10]. For recent results on Volterra integro-differential equations, we refer the reader to [7–9] and the references therein.

Let  $\mathbf{R} = (-\infty, \infty)$ ,  $\mathbf{Z}^+ = [0, \infty)$  and  $\mathbf{Z}^- = (-\infty, -1]$ , respectively. To motivate the reader, we consider the delay difference equation

$$(1.1) \quad x(t+1) = a(t)x(t) + b(t)x(t-g(t)),$$

where  $a, b, g : \mathbf{Z}^+ \rightarrow \mathbf{R}$ , and  $t - g(t) \in \mathbf{Z}$ .

**Theorem 1.** *Suppose*

$$\Delta g(t) \leq 0, \quad g(t) > 0 \quad \text{for all } t \in \mathbf{Z}^+ \quad \text{and } t - g(t) \rightarrow \infty \quad \text{as } t \rightarrow \infty.$$

*Also, suppose there is a  $\delta > 0$  such that*

$$(1.2) \quad |a(t)| + \delta < 1,$$

*and*

$$(1.3) \quad |b(t)| \leq \delta.$$

---

Received January 17, 2018; Revised June 25, 2018; Accepted August 3, 2018.

2010 *Mathematics Subject Classification.* Primary 39A10, 39A11, 39A12.

*Key words and phrases.* functional, discrete, fixed point, Lyapunov functionals, Volterra.

Then the zero solution of (1.1) is asymptotically stable.

*Proof.* Define the Lyapunov functional  $V(t, x)$  by

$$V(t, x) = |x(t)| + \delta \sum_{s=t-g(t)}^{t-1} |x(s)|.$$

Then along solutions of (1.1) we have

$$\begin{aligned} \Delta V &= |x(t+1)| - |x(t)| + \delta \sum_{s=t+1-g(t+1)}^t |x(s)| - \delta \sum_{s=t-g(t)}^{t-1} |x(s)| \\ &\leq |a(t)||x(t)| - |x(t)| + |b(t)|x(t-g(t))| \\ &\quad + \delta \sum_{s=t+1-g(t)}^t |x(s)| - \delta \sum_{s=t-g(t)}^{t-1} |x(s)| \\ &= \left(|a(t)| + \delta - 1\right)|x(t)| + \left(|b(t)| - \delta\right)|x(t-g(t))| \\ &\leq \left(|a(t)| + \delta - 1\right)|x(t)| \\ &\leq -\gamma|x(t)| \text{ for some positive constant } \gamma. \end{aligned}$$

By referring to [2], it follows from the above relation that the zero solution of (1.1) is asymptotically stable.  $\square$

*Remark 1.* One of the difficulties that are associated with the above method is the construction of a suitable Lyapunov functional. Moreover, conditions (1.2) and (1.3) in Theorem 1 imply that

$$|a(t)| + |b(t)| < 1 \text{ for all } t \in \mathbb{Z}.$$

In this paper we concentrate on the delay functional difference equation

$$(1.4) \quad x(t+1) = a(t)x(t) + g(t, x_t),$$

where  $a : \mathbf{Z}^+ \rightarrow \mathbf{R}$ , and  $g : \mathbf{Z}^+ \times \mathcal{C}$  is continuous with  $\mathcal{C}$  being the Banach space of bounded functions  $\phi : \mathbf{Z}^- \rightarrow \mathbf{R}$  with the supremum norm

$$\|\phi\| = \sup_{t \in \mathbf{Z}^-} \{|\phi(t)|\} < \infty.$$

If  $x_t \in \mathcal{C}$ , then  $x_t(s) = x(t+s)$  for  $s \in \mathbf{Z}^-$ .

We note that when the function  $g(t, \phi)$  is not a linear function, then the search for a suitable Lyapunov function or functional becomes extremely difficult, without severe restrictions, see Theorem 1 or [6].

### 2. Stability

In this section, we use fixed point theory to obtain necessary and sufficient conditions for the asymptotic stability of the zero solution of (1.4). Throughout this paper we assume  $g(t, 0) = 0$  so that  $x = 0$  is a solution of (1.4). For every positive  $\beta > 0$ , we define the set

$$\mathcal{C}(\beta) = \{\phi \in \mathcal{C} : \|\phi\| \leq \beta\}.$$

Given a function  $\psi : \mathbf{Z} \rightarrow \mathbf{Z}$ , we define  $\|\psi\|^{[s,t]} = \sup\{|\psi(u)| : s \leq u \leq t\}$ . Moreover, for  $D > 0$  a sequence  $x : (-\infty, D] \rightarrow \mathbf{R}$  is called a solution of (1.4) through  $(t_0, \phi) \in \mathbf{Z}^+ \times \mathcal{C}$  if  $x_{t_0} = \phi$  and  $x$  satisfies (1.4) on  $[t_0, D]$ . Due to the importance of the next result, we summarize it in the following lemma.

**Lemma 1.** *Suppose that  $a(t) \neq 0$  for all  $t \in \mathbf{Z}^+$ . Then  $x(t)$  is a solution of equation (1.4) if and only if*

$$(2.1) \quad x(t) = \phi(t_0) \prod_{s=t_0}^{t-1} a(s) + \sum_{s=t_0}^{t-1} \prod_{u=s+1}^{t-1} a(u) g(s, x_s) \text{ for } t \geq t_0.$$

The proof of Lemma 1 follows easily from the variation of parameters formula and hence we omit it.

In preparation for our next theorem we let  $L > 0$  be a constant,  $\delta_0 \geq 0$  and  $t_0 \geq 0$ . Let  $\phi \in \mathcal{C}(\delta_0)$  be fixed and set

$$S = \left\{ x : \mathbf{Z} \rightarrow \mathbf{R} : x_{t_0} = \phi, x_t \in \mathcal{C}(L) \text{ for } t \geq t_0, x(t) \rightarrow 0 \text{ as } t \rightarrow \infty \right\}.$$

Then,  $S$  is a complete metric space with metric

$$\rho(x, y) = \sup_{t \geq t_0} |x(t) - y(t)|.$$

Define the mapping  $P : S \rightarrow S$  by

$$(Px)(t) = \phi(t) \text{ if } t \leq t_0$$

and

$$(Px)(t) = \phi(t_0) \prod_{s=t_0}^{t-1} a(s) + \sum_{s=t_0}^{t-1} \prod_{u=s+1}^{t-1} a(u) g(s, x_s) \text{ for } t \geq t_0.$$

It is clear that for  $\varphi \in S$ ,  $P\varphi$  is continuous.

**Theorem 2.** *Assume the existence of positive constants  $\alpha, L$ , and a sequence  $b : \mathbf{Z}^+ \rightarrow [0, \infty)$  such that the following conditions hold:*

- (i)  $a(t) \neq 0$  for all  $t \in \mathbf{Z}^+$ .
- (ii)  $\sum_{s=0}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| b(s) \leq \alpha < 1$  for all  $t \in \mathbf{Z}^+$ .
- (iii)  $|g(t, \phi) - g(t, \psi)| \leq b(t) \|\phi - \psi\|$  for all  $\phi, \psi \in \mathcal{C}(L)$ .

- (iv) For each  $\epsilon > 0$  and  $t_1 \geq 0$ , there exists a  $t_2 > t_1$  such that for  $t > t_2$ ,  $x_t \in \mathcal{C}(L)$  imply

$$|g(t, x_t)| \leq b(t) \left( \epsilon + \|x\|^{[t_1, t-1]} \right).$$

Then the zero solution of (1.4) is asymptotically stable if and only if

- (v)  $\left| \prod_{s=0}^{t-1} a(s) \right| \rightarrow 0$  as  $t \rightarrow \infty$ .

*Proof.* Suppose (v) hold and let  $K = \sup_{t \geq t_0} \left| \prod_{s=t_0}^{t-1} a(s) \right|$  for  $t_0 \in \mathbf{Z}^+$ . Then  $K > 0$  due to (i). Choose  $\delta_0 > 0$  such that  $\delta_0 K + \alpha L \leq L$ . Then for  $x \in S$  and for fixed  $\phi \in \mathcal{C}(\delta_0)$  we have

$$\begin{aligned} |(Px)(t)| &\leq |\phi(t_0)| \left| \prod_{s=t_0}^{t-1} a(s) \right| + \sum_{s=t_0}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| b(s) \|x_s\| \\ &\leq \delta_0 K + \alpha L \leq L \quad \text{for } t \geq t_0. \end{aligned}$$

Hence,  $(Px) \in \mathcal{C}(L)$ . Next we show that  $(Px)(t) \rightarrow 0$  as  $t \rightarrow \infty$ . Let  $x \in S$ . As a consequence of  $x(t) \rightarrow 0$  as  $t \rightarrow \infty$ , there exists  $t_1 > t_0$  such that  $|x(t)| < \epsilon$  for all  $t \geq t_1$ . Moreover, since  $|x(t)| \leq L$  for all  $t \in \mathbf{Z}$ , by (iv) there is a  $t_2 > t_1$  such that for  $t > t_2$  we have

$$|g(t, x_t)| \leq b(t) \left( \epsilon + \|x\|^{[t_1, t-1]} \right).$$

Thus, for  $t \geq t_2$ , we have

$$\begin{aligned} \left| \sum_{s=t_0}^{t-1} \prod_{u=s+1}^{t-1} a(u) g(s, x_s) \right| &\leq \sum_{s=t_0}^{t_2-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| |g(s, x_s)| \\ &\quad + \sum_{s=t_2}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| |g(s, x_s)| \\ &\leq \sum_{s=t_0}^{t_2-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| \|x_s\| \\ &\quad + \sum_{s=t_2}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| b(s) \left( \epsilon + \|x\|^{[t_1, s-1]} \right) \\ &\leq \sum_{s=t_0}^{t_2-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| \left\| \prod_{u=t_2}^{t-1} a(u) \right\| \|x_s\| + 2\alpha\epsilon \\ &\leq \alpha L \left| \prod_{u=t_2}^{t-1} a(u) \right| + 2\alpha\epsilon. \end{aligned}$$

By (v), there exists  $t_3 > t_2$  such that

$$\delta_0 \left| \prod_{u=s+1}^{t-1} a(u) \right| + L \left| \prod_{u=t_2}^{t_3-1} a(u) \right| < \epsilon.$$

Thus, for  $t \geq t_3$ , we have

$$|(Px)(t)| \leq \delta_0 \left| \prod_{u=s+1}^{t-1} a(u) \right| + \alpha L \left| \prod_{u=t_2}^{t-1} a(u) \right| + 2\alpha\epsilon < 3\epsilon.$$

Hence,  $(Px)(t) \rightarrow 0$  as  $t \rightarrow \infty$ . Left to show that  $(P\varphi)(t)$  is a contraction under the maximum norm. Let  $\zeta, \eta \in S$ . Then

$$\begin{aligned} |(P\zeta)(t) - (P\eta)(t)| &\leq \sum_{s=t_0}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| |g(s, \zeta_s) - g(s, \eta_s)| \\ &\leq \sum_{s=t_0}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| b(s) |\zeta_s - \eta_s| \\ &\leq \alpha\rho(\zeta, \eta). \end{aligned}$$

Or,

$$\rho(P\zeta, P\eta) \leq \alpha\rho(\zeta, \eta).$$

Thus, by the contraction mapping principle  $P$  has a unique fixed point in  $S$  which solves (1.4) with  $\phi \in \mathcal{C}(\delta_0)$  and  $x(t) = x(t, t_0, \phi) \rightarrow 0$  as  $t \rightarrow \infty$ . We are left with showing that the zero solution of (1.4) is stable. Let  $\epsilon > 0, \epsilon < L$  be given and choose  $0 < \delta < \epsilon$  so that  $\delta K + \alpha\epsilon < \epsilon$ . We claim that  $|x(t)| < \epsilon$  for all  $t \geq t_0$ . Notice that by the choice of  $\delta$  we have  $|x(t_0)| < \epsilon$ . Let  $t^* \geq t_0 + 1$  be such that  $|x(t^*)| \geq \epsilon$  and  $|x(s)| < \epsilon$  for  $t_0 \leq s \leq t^* - 1$ . If  $x(t) = x(t, t_0, \phi)$  is a solution for (1.4) with  $\|\phi\| < \delta$ , then

$$\begin{aligned} |x(t^*)| &\leq \delta \left| \prod_{s=t_0}^{t^*-1} a(s) \right| + \sum_{s=t_0}^{t^*-1} \left| \prod_{u=s+1}^{t^*-1} a(u) \right| b(s) \|x_s\| \\ &\leq \delta K + \alpha\epsilon < \epsilon, \end{aligned}$$

which contradicts the definition of  $t^*$ . Thus  $|x(t)| < \epsilon$  for all  $t \geq t_0$  and hence the zero solution of (1.4) is asymptotically stable.

Conversely, suppose (v) does not hold. Then by (i) there exists a sequence  $\{t_n\}$  such that for positive constant  $q$ ,

$$\left( \left| \prod_{u=0}^{t_n-1} a(u) \right| \right)^{-1} = q \text{ for } n = 1, 2, 3, \dots$$

Now by (ii) we have that

$$\sum_{s=0}^{t_n-1} \left| \prod_{u=s+1}^{t_n-1} a(u) \right| b(s) \leq \alpha,$$

from which we get that

$$\left( \left| \prod_{u=0}^{t_n-1} a(u) \right| \right)^{-1} \sum_{s=0}^{t_n-1} \left| \prod_{u=s+1}^{t_n-1} a(u) \right| b(s) \leq \alpha \left( \left| \prod_{u=0}^{t_n-1} a(u) \right| \right)^{-1}.$$

This simplifies to

$$\sum_{s=0}^{t_n-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} b(s) \leq \alpha q.$$

Thus the sequence  $\left\{ \sum_{s=0}^{t_n-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} b(s) \right\}$  is bounded and hence there is a convergent subsequence. Thus, for the sake of keeping a simple notation we may assume that

$$\lim_{n \rightarrow \infty} \sum_{s=0}^{t_n-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} b(s) = \omega$$

for some positive constant  $\omega$ . Next we may choose a positive integer  $\tilde{n}$  large enough so that

$$\sum_{s=t_{\tilde{n}}}^{t_n-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} b(s) < \frac{1-\alpha}{2K^2}$$

for all  $n \geq \tilde{n}$ .

Consider the solution  $x(t, t_{\tilde{n}}, \phi)$  with  $\phi(s) = \delta_0$  for  $s \leq \tilde{n}$ . Then,  $|x(t)| \leq L$  for all  $n \geq \tilde{n}$  and

$$\begin{aligned} |x(t)| &\leq \delta_0 \left| \prod_{s=t_{\tilde{n}}}^{t-1} a(s) \right| + \sum_{s=t_{\tilde{n}}}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| b(s) |x_s| \\ &\leq \delta_0 K + \alpha |x_t|. \end{aligned}$$

This implies

$$|x(t)| \leq \frac{\delta_0 K}{1-\alpha} \text{ for all } t \geq t_{\tilde{n}}.$$

On the other hand, for  $n \geq \tilde{n}$ , we also have

$$\begin{aligned} |x(t)| &\geq \delta_0 \left| \prod_{s=t_{\tilde{n}}}^{t_n-1} a(s) \right| - \sum_{s=t_{\tilde{n}}}^{t-1} \left| \prod_{u=s+1}^{t_n-1} a(u) \right| b(s) |x_s| \\ &\geq \delta_0 \left| \prod_{s=t_{\tilde{n}}}^{t_n-1} a(s) \right| - \frac{\delta_0 K}{1-\alpha} \left| \prod_{u=0}^{t_n-1} a(u) \right| \sum_{s=t_{\tilde{n}}}^{t-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} |b(s)| \\ &= \delta_0 \left| \prod_{s=t_{\tilde{n}}}^{t_n-1} a(s) \right| - \frac{\delta_0 K}{1-\alpha} \left| \prod_{u=0}^{t_{\tilde{n}}-1} a(s) \right| \left| \prod_{u=t_{\tilde{n}}}^{t_n-1} a(s) \right| \sum_{s=t_{\tilde{n}}}^{t-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} |b(s)| \\ &\geq \left| \prod_{s=t_{\tilde{n}}}^{t_n-1} a(s) \right| \left( \delta_0 - \frac{\delta_0 K}{1-\alpha} K \sum_{s=t_{\tilde{n}}}^{t-1} \left( \left| \prod_{u=0}^s a(u) \right| \right)^{-1} |b(s)| \right) \end{aligned}$$

$$\begin{aligned} &\geq \left| \prod_{s=t_n}^{t_n-1} a(s) \right| \left( \delta_0 - \frac{\delta_0 K}{1-\alpha} K \frac{1-\alpha}{2K^2} \right) = \frac{\delta_0}{2} \left| \prod_{s=t_n}^{t_n-1} a(s) \right| \\ &= \frac{\delta_0}{2} \left| \prod_{u=0}^{t_n-1} a(s) \right| \left( \left| \prod_{u=0}^{t_n-1} a(s) \right| \right)^{-1} \rightarrow \frac{\delta_0}{2} q/q \neq 0 \text{ as } n \rightarrow \infty. \end{aligned}$$

Hence, condition (v) is necessary. This completes the proof. □

### 3. Infinite delay Volterra equations

In this section we apply the results of the previous section to nonlinear Volterra infinite delay equations of the form

$$(3.1) \quad x(t+1) = a(t)x(t) + \sum_{s=-\infty}^{t-1} G(t,s,x(s)),$$

where  $a : \mathbf{Z}^+ \rightarrow \mathbf{R}$  and  $G : \Omega \times \mathbf{R} \rightarrow \mathbf{R}$ ,  $\Omega = \{(t,s) \in \mathbf{Z}^2 : t \geq s\}$  and  $G$  is continuous in  $x$ . We prove the following theorem which gives necessary and sufficient conditions for the stability of the zero solution of (3.1).

**Theorem 3.** *Assume the existence of positive constants  $\alpha, L$ , and a sequence  $p : \Omega \rightarrow \mathbf{R}^+$  such that the following conditions hold:*

- (I)  $a(t) \neq 0$  for all  $t \in \mathbf{Z}^+$ ,
- (II)  $\sup_{t \in \mathbf{Z}^+} \sum_{s=0}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| \sum_{\tau=0}^{s-1} p(s,\tau) \leq \alpha < 1$  for all  $t \in \mathbf{Z}^+$ ,
- (III) If  $|x|, |y| \leq L$ , then

$$|G(t,s,x) - G(t,s,y)| \leq p(t,s)|x - y|$$

and  $G(t,s,0) = 0$  for all  $(t,s) \in \Omega$ ,

- (IV) For each  $\epsilon > 0$  and  $t_1 \geq 0$ , there exists a  $t_2 > t_1$  such that for  $t \geq t_2$ , implies

$$\sum_{s=-\infty}^{t_1-1} p(t,s) \leq \epsilon \sum_{s=-\infty}^{t-1} p(t,s).$$

Then the zero solution of (3.1) is asymptotically stable if and only if

$$(V) \quad \left| \prod_{s=0}^{t-1} a(s) \right| \rightarrow 0 \text{ as } t \rightarrow \infty.$$

*Proof.* We only need to verify that (iii) and (iv) of Theorem 2 hold. First we remark that due to condition (iii) we have that  $|G(t,s,x)| \leq p(t,s)L$ . Equation (3.1) can be put in the form of Equation (1.4) by letting

$$g(t,\phi) = \sum_{s=-\infty}^{-1} G(t,t+s,\phi(s)).$$

To verify (iii) we let  $b(t) = \sum_{s=-\infty}^{t-1} p(t, s)$  and then for any functions  $\phi, \varphi \in \mathcal{C}(L)$ , we have

$$\begin{aligned} |g(t, \phi) - g(t, \varphi)| &\leq \left| \sum_{s=-\infty}^{t-1} G(t, t+s, \phi(s)) - \sum_{s=-\infty}^{t-1} G(t, t+s, \varphi(s)) \right| \\ &\leq \sum_{s=-\infty}^{t-1} p(t, t+s) \|\phi - \varphi\| \\ &= b(t) \|\phi - \varphi\|. \end{aligned}$$

Next we verify (iv). Let  $\epsilon > 0$  and  $t_1 \geq 0$  be given. By (IV) there exists a  $t_2 > t_1$  such that

$$L \sum_{s=-\infty}^{t_1-1} p(t, s) < \epsilon \sum_{s=-\infty}^{t-1} p(t, s) \text{ for all } t > t_2.$$

Let  $x_t \in \mathcal{C}(L)$  and for  $t > t_2$  we have

$$\begin{aligned} |g(t, x_t)| &\leq \sum_{s=-\infty}^{t_1-1} |G(t, s, x(s))| + \sum_{s=t_1}^{t-1} |G(t, s, x(s))| \\ &\leq \sum_{s=-\infty}^{t_1-1} Lp(t, s) + \sum_{s=t_1}^{t-1} p(t, s)|x(s)| \\ &\leq \epsilon \sum_{s=-\infty}^{t-1} p(t, s) + \sum_{s=t_1}^{t-1} p(t, s)\|x\|^{[t_1, t-1]} \\ &\leq b(t) \left( \epsilon + \|x\|^{[t_1, t-1]} \right). \end{aligned}$$

This implies that (iv) is satisfied, and hence by Theorem 2, the zero solution of (3.1) is asymptotically stable if and only if (v) holds.  $\square$

We end the paper with the following example.

**Example 1.** Consider the difference equation

$$(3.2) \quad x(t+1) = \frac{1}{2^t} x(t) + \sum_{s=-\infty}^{t-1} 2^{s-t} x(s), \quad n \geq 0.$$

In this example we take  $t_0 = 0$ . We observe that  $a(t) = \frac{1}{2^t}$ , and  $G(t, s, x) = 2^{s-t} x(s)$ . We make sure all the conditions of Theorem 3 are satisfied. Thus,

$$\prod_{s=0}^{t-1} \frac{1}{2^s} \rightarrow 0 \text{ as } t \rightarrow \infty,$$



and hence condition (V) is satisfied. It is clear that  $p(t, s) = 2^{s-t}$ . Next we make sure condition (II) is satisfied.

$$\begin{aligned} \sup_{t \in \mathbb{Z}^+} \sum_{s=0}^{t-1} \left| \prod_{u=s+1}^{t-1} a(u) \right| \sum_{\tau=0}^{s-1} p(s, \tau) &= \sup_{t \in \mathbb{Z}^+} \sum_{s=0}^{t-1} \left| \prod_{u=s+1}^{t-1} 2^{-u} \right| \sum_{\tau=0}^{s-1} 2^{s-\tau} \\ &\leq \sup_{t \in \mathbb{Z}^+} \sum_{s=0}^{t-1} \left| \prod_{u=s+1}^{t-1} 2^{-u} (1 - 2^{-s}) \right| \\ &\leq \sup_{t \in \mathbb{Z}^+} \sum_{s=0}^{t-1} 2^{1-t} (1 - 2^{-s}) \\ &\leq 2^{1-t} \left[ -2^{1-t} + 2 + \frac{4^{1-t}}{3} - 4/3 \right] \\ &\leq 2/3 \text{ for all } t \in \mathbb{Z}^+. \end{aligned}$$

Hence (II) is satisfied. Left to show (IV) is satisfied. Let  $t_1 \geq 0$  be given. Then

$$\begin{aligned} \sum_{s=-\infty}^{t_1-1} p(t, s) &= \sum_{s=-\infty}^{t_1-1} 2^{-t+s} \\ &= 2^{-t} [2^{t_1} - 2^{-\infty}] \\ &\leq 2^{t-t_2} \\ &= 2^{-t_2} \sum_{s=-\infty}^{t-1} 2^{-t+s} \\ &\leq \epsilon \sum_{s=-\infty}^{t-1} p(t, s), t \geq t_2 \geq t_1. \end{aligned}$$

Thus all the conditions of Theorem 2 are satisfied and the zero solution of (3.2) asymptotically stable.

**Acknowledgement.** The author is very thankful for the anonymous referee's comments.

### References

- [1] J. Cermák, *Difference equations in the qualitative theory of delay differential equations*, in Proceedings of the Sixth International Conference on Difference Equations, 391–398, CRC, Boca Raton, FL, 2004.
- [2] S. N. Elaydi, *An Introduction to Difference Equations*, second edition, Undergraduate Texts in Mathematics, Springer-Verlag, New York, 1999.
- [3] W. Kelley and A. Peterson, *Difference Equations an Introduction with Applications*, Academic Press, 2001.
- [4] J. Migda, *Asymptotic behavior of solutions of nonlinear difference equations*, Math. Bohem. **129** (2004), no. 4, 349–359.
- [5] C. Qian and Y. Sun, *On global attractivity of nonlinear delay difference equations with a forcing term*, J. Difference Equ. Appl. **11** (2005), no. 3, 227–243.

- [6] Y. N. Raffoul and E. Yankson, *Existence of bounded solutions for Almost-Linear Volterra difference equations using fixed point theory and Lyapunov*, *Functionals Nonlinear Studies* **21** (2014), 663–674.
- [7] C. Tunc, *New stability and boundedness results to Volterra integro-differential equations with delay*, *J. Egyptian Math. Soc.* **24** (2016), no. 2, 210–213.
- [8] ———, *A note on the qualitative behaviors of non-linear Volterra integro-differential equation*, *J. Egyptian Math. Soc.* **24** (2016), no. 2, 187–192.
- [9] D. Zhang and B. Shi, *Global behavior of solutions of a nonlinear difference equation*, *Appl. Math. Comput.* **159** (2004), no. 1, 29–35.
- [10] H. Zhu and L. Huang, *Asymptotic behavior of solutions for a class of delay difference equation*, *Ann. Differential Equations* **21** (2005), no. 1, 99–105.

YOUSSEF N. RAFFOUL  
DEPARTMENT OF MATHEMATICS  
UNIVERSITY OF DAYTON  
DAYTON, OH 45469-2316, USA  
*Email address:* [yraffoul1@udayton.edu](mailto:yraffoul1@udayton.edu)